CHEMISTRY

BOOKS - MTG CHEMISTRY (ENGLISH)

AMINES

1. Nitrogen atom of amino group is ___hybridised.



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_DroFzPHZccju

l @ Watch Video Solution J

2.The shap of (CH3)4N is pyramides because

A. nitrogen froms three sp® hybridised sigma bonds with carbon
atoms of methyl groups and there is one non-bonding electron
pair.

B. nitrogen forms three sp? hybridised sigma bonds with carbon
atoms of methyl groups and fourth orbital form pi bond

C. nitrogen has five valencies which are arranged in pyramida shape.

D. the unpaired electron present on nitrogen is delocalised.

Answer:

° Watch Video Solution

3. Which of the following is aromatic amine?


https://dl.doubtnut.com/l/_DroFzPHZccju
https://dl.doubtnut.com/l/_e6cG7IQquedp
https://dl.doubtnut.com/l/_xmQooITc2DJo

(a) @NHZ
A

NHCH,
Je}
B. ,
®) @CHZ— CH,—NH,
C.

D. Both (a) and (b)

Answer:

° Watch Video Solution

4.1dentify the incorrect [IUPAC name.

A.(CH3CH,),NCHjs — N-Ethyl-N-methylethan-amine
B.(CH3),CNH, — 2-Methylpropan-2-amine
C.CH3;NHC(CHj;),, — N-Methylpropan-2-amine

D. (CHj3),CHNH, — 2-Dimethyl-N-propanamine


https://dl.doubtnut.com/l/_xmQooITc2DJo
https://dl.doubtnut.com/l/_SNqmMiODQwVG

Answer:

o Watch Video Solution

5. When excess of ethyl iodide is treated with ammonia, the product is

A. ethylamine

B. diethylamine

C.triethylamine

D. tetraethylammonium iodide.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_SNqmMiODQwVG
https://dl.doubtnut.com/l/_PgC7THw8Ze9R

6. In the following reaction

O —
N H IA)X

N
/' \

H,C CH,

The organic product X has the structure

'(a) m

A
) |

5 N(CH,),
(©) ‘

c N(CH,),

o Q)
N(CHj3),


https://dl.doubtnut.com/l/_1bx4ij0X8JZZ

Answer:

o Watch Video Solution

7.Secondary amines could be prepared by

A. reduction of nitro compounds

B. reduction of amides

C.reduction of isonitriles

D. reduction of isonitriles

Answer: C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_1bx4ij0X8JZZ
https://dl.doubtnut.com/l/_1Q3dG4CMtPpU

8.ldentify X and Y in the reaction:

0O

>Y

o O
CH,NH,
O
(b) X = é/\/ _ @\/CﬂzNHZ
B.
0
© X= [:;%:I/\V/ ve [::::Tf\v/(ll
C COOH
0
COOH
W x- ¢N ) ﬁ;(
COOH
D.

Answer:


https://dl.doubtnut.com/l/_5UqbATY4e2DB

o Watch Video Solution

9. Which one of the following reducing agents is likely to be most

effective in bringing about the following change?

o

|
R-C - NH2 — RCNzNHz

A H, — Ni
B. NaBH,
C. LiATH,

D. Na-Alcohol

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_5UqbATY4e2DB
https://dl.doubtnut.com/l/_vYBZCz2mOgAq

10. What is the end product in the following sequence of reaction?

COOH

PCI 2NH Br,/K!

A. Aniline
B. Phenol
C.Benzene

D. Benzenediazonium chloride

Answer:

° Watch Video Solution

11. Benzoic acid is treated with SOCI2 and the product (X) formed is
reacted with ammonia to give (Y). (Y) on reaction with Bry and KOH

gives (2). (Z) in the reaction is


https://dl.doubtnut.com/l/_6HWiJI3Q2C4t
https://dl.doubtnut.com/l/_xQByrEpxqJGB

A. aniline

B. chlorobenzene

C. benzamide

D. benzoyl chloride

Answer:

° Watch Video Solution

12. The most convenient method to prepare an amine containingj one

carbon atom less is

A. Gabriel phthalimide synthesis

B. reductive amination of aldehydes

C. Hofmann bromamide reaction

D. reduction of isonitriles

Answer:


https://dl.doubtnut.com/l/_xQByrEpxqJGB
https://dl.doubtnut.com/l/_rTS69Bfl0LcX

o Watch Video Solution

13. Amine that cannot be prepared by Gabrielphthimide synthesis is

A. aniline

B. benzyl amine

C. methyl amine

D. iso-butylamine

Answer:

o Watch Video Solution

14. Which of the following amides will give ethylamine on reaction with

sodium hypobromide?

A. Butanmide

B. Propanamide



https://dl.doubtnut.com/l/_rTS69Bfl0LcX
https://dl.doubtnut.com/l/_gRFQcoeiKDcS
https://dl.doubtnut.com/l/_zk6JIDiX73UR

C. Acetamide

D. Benzamide

Answer:

° Watch Video Solution

15. Identify the correct pathway to convert propanoic acid to ethylamine.
The reagent represented by A, B and C are

A B o}
CHgCHQCOOH > X > Y > CH30H2NH2

A B C
A Ca(OH), Heat Pt/H,
A B C
° S0Cl, NH, Bry/KOH
c A B C
"HNO, P+ 1, LiAlH,
A B C

b HCN NH; Bry/KOH

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_zk6JIDiX73UR
https://dl.doubtnut.com/l/_qRhtpEo828Ip

16. Tertiary amines have lowest boiling points amongst isomeric amines
because

A. they have highest molecular mass

B. they do not form hydrogen bonds

C. they are more polar in nature

D. they are most basic in nature.

Answer:

° Watch Video Solution

17. The correct order of boiling points of the following isomeric amines
is

CyHyNH,, (C,Hs),NH, C;H;N(CHj;),

A CQH5N(CH3)2 > (02H5)2NH > CyHyNH,


https://dl.doubtnut.com/l/_qRhtpEo828Ip
https://dl.doubtnut.com/l/_IM3FlhQhN8fi
https://dl.doubtnut.com/l/_HVgaRkStInoK

8. (CoHs),NH > CoHsN(CHz), > C4HyNH,
C.CX,HyNH, > (02H5)2NH > 02H5N(CH3)2

D. (02H5)2NH > CyHyNH, > 02H5N(CH3)2

Answer:

° Watch Video Solution

18. The decreasing order of boiling points of ethyldimethylamine, n-
butylamine and diethylamine is n-
Butylamine,Diethylamine,Ethyldimethylamine. This trend of boiling point
can be explained as

A. boiling point increases with increase in molecular mass

B. tertiary amines have highest boiling point due to highest basicity

C. intermolecular hydrogen bonding is maximum in primary amines

and absent in tertiary amines


https://dl.doubtnut.com/l/_HVgaRkStInoK
https://dl.doubtnut.com/l/_WHDUtNnjW6Yq

D. intramolecular hydrogen bonding is present in tertiary amines.

Answer:

o Watch Video Solution

19. Choose the correct statements from the following:

A. Methyl amine is less soluble than propyl amine.

B. Methyl amine is solid with fishy odour.

C. Anililne gets coloured on storage.

D. Amines are more polar than alcohols.

Answer:

° Watch Video Solution

20. Which of the following has highest pKj, value?


https://dl.doubtnut.com/l/_WHDUtNnjW6Yq
https://dl.doubtnut.com/l/_NnH7lHgMkol0
https://dl.doubtnut.com/l/_2jGQQVECQx3d

A.(CHs),CNH,
B. NH,
C.(CHs),NH

D. CH;NH,

Answer:

° Watch Video Solution

21. Canonical structures of anilinium ion obtained by accepting a proton

are given below. Choose the correct statements.
+
NH, NH,
+
<> <>
I II

A. Anilinium ion has two stable canonical structures | and lll.

+
NH,

11


https://dl.doubtnut.com/l/_2jGQQVECQx3d
https://dl.doubtnut.com/l/_PAWh2vq99zh5

B.1l is not an acceptable structure because carbonium ion is less

stable.

C.Only I and Il are acceptable aromatic canonical structures since |

is non-aromatic.

D. Anilinium ion has three stable canonical structures I,Il and IIl.

Answer:

° Watch Video Solution

22. Which of the following does not represent the correct reaction?

NH, NH,CI

A (a) @ +Hc1—©

B.RNH,”X~ + OH~ — RNH, + H,O + X~

C.RNH, + H,O < RNH ™" + H;0"

NaNO:2/ HCI
D. RNH, —O> ROH + N, + HCI
H,


https://dl.doubtnut.com/l/_PAWh2vq99zh5
https://dl.doubtnut.com/l/_uVA2S8sOdakL

Answer:

o Watch Video Solution

23. Most basic species amongst the following is

(@) OzNHl
A.
NH
Jom
B.

@ |
N
C. ,
(d)
N
D. H
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_uVA2S8sOdakL
https://dl.doubtnut.com/l/_AJwGFCS55eiJ

24.The strongest base among the following is

A CsHs NH,

Bp — NH206H4NH2

Cm — NOQC6H4NH2

D. CsHsCH,NH,

Answer:

o Watch Video Solution

25.The correct order of increasing basic nature of the following bases is

O,N

CHy

/©/ NH, NH,
CH,O


https://dl.doubtnut.com/l/_R12zpWUp4Maz
https://dl.doubtnut.com/l/_B2kYeqMQAtr0

A. 2It51t11t31t4

B. 5It21t11t31t4

C. 2It5It11t41t3

D. 51t21t11t4lt3

Answer:

o Watch Video Solution

26. The most basic amine among the following is

2
(a) @

NH
NO,


https://dl.doubtnut.com/l/_B2kYeqMQAtr0
https://dl.doubtnut.com/l/_T32vE2wNSBhw

NH,

(c)

CH
C. 3
NH,
(d)
D F
Answer:

° Watch Video Solution

27. The amines are basic in nature, hence they form salts with
hydrochloric acid. Which of the following will be insoluble in dil. HCI?
A.CecH;NH,
B. (CeH5)3 N

C.C,H;NH,


https://dl.doubtnut.com/l/_T32vE2wNSBhw
https://dl.doubtnut.com/l/_L5iRJTSfYMti

D. CH;NHCH;

Answer:

o Watch Video Solution

28.Basic strength of different alkyl amines depends upon

A. +l effect

B. steric effect

C. solvation effect

D. All of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_L5iRJTSfYMti
https://dl.doubtnut.com/l/_Fdu1M82u4FPQ

29. Arrange the following compounds in increasing order of basicity:
CH3;NH,, (CH;),NH, NH;, CcH; NH,
A.C¢H;NH, < NH3 < (CH3),NH < CH3;NH,
B.CH;NH, < (CH3),NH < NHNH; < C¢H;NH,
C.C¢eHs;NH, < NH3; < CH3NH, < (CH3),NH

D.(CH;),NH < CH;NH, < NH; < C¢H;NH,

Answer:

° Watch Video Solution

30. Cyclohexylamine is stronger base than aniline because

A.in aniline electron pair is involved in conjugation

B. in cyclohexylamine electron pair is involved in conjugation

C.in aniline-NH, group is protonated


https://dl.doubtnut.com/l/_LKxnpbiz26pH
https://dl.doubtnut.com/l/_xKq63C1eOaZl

D. in cyclohexylamine nitrogen has a negative charge.

Answer:

o Watch Video Solution

31. Which of the following is amphoteric in nature?

A CH;NH,
B. CH; NHCH;
C. CH;CONH,

D.CH; — N — CH;
|
CH;

Answer:

° Watch Video Solution

32. Which of the following amines will give carbylamine reaction?


https://dl.doubtnut.com/l/_xKq63C1eOaZl
https://dl.doubtnut.com/l/_KjjjHCRRmsv3
https://dl.doubtnut.com/l/_G9F7s5OfBQ39

A. (CyHs) 4N Only
B. (C2Hj),NH only
C. CQH5NH2 onIy

D. 03H7NH02H5 only

Answer:

° Watch Video Solution

33. Which of the following species are involved in the carbylamine test?
(i) RNC (ii) CHCl3
(iii) COCl, (iv) NaNOs + HCI

A. (i) and (iv) only

B. (i) and (ii) only

C. (ii) and (iv) only

D. (ii) and (iii) only


https://dl.doubtnut.com/l/_G9F7s5OfBQ39
https://dl.doubtnut.com/l/_fL2mG1qwZBp3

Answer:

o Watch Video Solution

34. Which of the following will form isocyanide on reaction with CHCl3
and KOH?

A.C¢HsNHCHj;

B. CH306H4NH2

C.C¢HsNHC,H,

Answer:

° Watch Video Solution

35. Which amine amongst the following will answer positively the

carbylamine test (i.e, heating with CHC'l3 and KOH ) ?


https://dl.doubtnut.com/l/_fL2mG1qwZBp3
https://dl.doubtnut.com/l/_4bUywPAuUjpC
https://dl.doubtnut.com/l/_eX4z4BNns2Sn

A.CeHs — NH — CH;
N (b) Me—<@‘NH2

C.CsHs — NH — CyH,

Answer:

° Watch Video Solution

36. When p-toluidine reacts with chloroform and alcoholic KOH, then the

product is

CN

(a)

CH,


https://dl.doubtnut.com/l/_eX4z4BNns2Sn
https://dl.doubtnut.com/l/_s4pFiV9j4T9V

NC

(b)
CH;y
NHCH;
(c)
CH,
C.
N Cr
(d)
o CH;
Answer:

° Watch Video Solution

37. Among the following

I.CH3NH, .. (CH3),NH


https://dl.doubtnut.com/l/_s4pFiV9j4T9V
https://dl.doubtnut.com/l/_lb5spKr8ZGty

. (CHs)3N V. CeHy NH,

Which will give the positive carbylamine test?
A.land Il only
B.land IV only
C.lland IV only

D. Il and lll only

Answer:

° Watch Video Solution

38. Which of the following methods can be used to carry out the

following conversions?

@)
NHCH

N (ii) (iii)
" Br,/KOH CHCl;/KOH H,/Pd


https://dl.doubtnut.com/l/_lb5spKr8ZGty
https://dl.doubtnut.com/l/_aBI3yajOMUJK

. (i) (i)
"KCN H,/Pd Sn/HCI
G (ii) (i)
"CuCN H,0/H*+ H,/Pd
O (ii) (i)
" HNO3/H»SO, (CH3C0),0 Fe/HCI

Answer:

o Watch Video Solution

39. The end product Z of the reaction:

. HNO, __ PCls .. KCN _ .
Ethyl amine » X —Y —Zis

A. propanenitrile

B. triethylamine

C. diethylamine

D. propylamine

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_aBI3yajOMUJK
https://dl.doubtnut.com/l/_HZvLPUzxORmP

40. Primary amines on reaction with nitrous acid form . For the test

of primary amines __ reaction is used. Primary amines are basic

than ammonia.

A. Carboxylic acid, Hofmann, less

B. secondary alcohols, carbylamine, less

C. primary alcohols, carbylamine, more

D. hydroxylamines, carbylamine, less

Answer:

° Watch Video Solution

41. which of the following tests is suitable to differentiate between

aniline and bezylamine?


https://dl.doubtnut.com/l/_HZvLPUzxORmP
https://dl.doubtnut.com/l/_FGxw3PRhWuSa
https://dl.doubtnut.com/l/_kYLSrdiJv4vJ

A. Aniline gives dye test on diazontisation and reaction with g-
naphthol while benzylamine give alcohol.

B. Benzylamine gives green dry with B-naphthol after diazotisation
while aniline gives orange dye.

C. Aniline gives carbylamine reaction while benzylamine does not.

D. Benzylamine gives carbylamine reaction while aniline does not.

Answer:

° Watch Video Solution

42.|dentify X and Y in the reaction.

Bry / NaOH o)
CH, — CH — CONH, /Y% x ™%
|

CH3

| |
CH; CH3

B.X = CH3CH = CHNH,,Y = CHs;CH = CHOH



https://dl.doubtnut.com/l/_kYLSrdiJv4vJ
https://dl.doubtnut.com/l/_a2PHK8Ee0BTd

C.X = CHy;— CH — NH,,Y = CH; — CH — OH
| |
CH; CHs

D. X = CH?,CHQCHQNHQ, = CH3CHsCH>OH

Answer:

° Watch Video Solution

43.The reagent required to convert

Oy NH, NH” NcH,

—

A.KOH | Bry, LiAIH,
B. KOH / Bry, CH,COCI
C. HNO,, (CH;CO),0

D. KOH/BT‘z, CHgOH/NCL


https://dl.doubtnut.com/l/_a2PHK8Ee0BTd
https://dl.doubtnut.com/l/_RrxM34DDL6zy

Answer:

° Watch Video Solution

44. Which of the following statements is not true?

A.(CHj3),NH is a stronger base than (CH3),N

B. Secondary amines show carbylamine reaction.

C. Nitrogen gas is evolved when ethylamine is treated with nitrous
acid.

D. Primary amines can show carbylamine reaction.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_RrxM34DDL6zy
https://dl.doubtnut.com/l/_vkhbA5qz3xbC

45. An organic compound (X) was treated with sodium nitrite and HCl in

ice cold condition. Bubbles of nitrogen gas were seen coming out. The

compound (X) may be

A. a secondary aliphatic amine

B. a primary aromatic amine

C. a primary aliphatic amine

D. a tertiary amine.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_qNcjRVOUV7Lt

46. Identify P,Q,R,S,T in the given sequence of reaction.

S CHCl;/KOH H,/Pt

lT

NHCOCH,

. P Q R S T
" CsHsNOy CiHs;CN CsHsNC CiHsNH, CH,;COOH
. P Q R S T

"CsHy CyH,NO, CyH;NC CsHsNH, CH;COCI

. Q R S T
"CeHsNH, CyH;CHy; CsH;NH, CtHs;CN CH;Cl

D.

P Q R S T
CeH;NO, CiH;NH, CiH;NC CgH;NHCH; (CH3CO),0

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_b819VahOsa8m

47. Which of the following is used as Hinsberg's reagent?

A. Cs H5 SO,Cl

B. CsHs SO H

C.CsHsNHCH;

D. C4 H;COCHs

Answer:

o Watch Video Solution

48.The reaction of benzenesulphonyl chloride with ethylamine yields

A. N-ethylbenzenesulphonamide, insoluble in alkali

B. N,N-diethylbenzenesulphonamide, soluble in alkali

C. N,N-diethylbenzenesulphonamide, insoluble in alkali

D. N-ethylbenzenessulphonamide, soluble in alkali


https://dl.doubtnut.com/l/_sJRZSfNmy7Fp
https://dl.doubtnut.com/l/_mKMP5h2jYq6K

Answer:

o Watch Video Solution

49. A compound (X) with molecular formula C3HygN reacts with

C¢H5S0O,Cl to give a solid which is insoluble in alkali. (X) is

A.CH;CH,CH,NH,

CH;
|

B.CH; — N
|

CH
C.CH; — NH — CH,CHj
D.CH; — CH — NH,

|
CH;

Answer:

° Watch Video Solution

50. Primary, secondary and tertiary amines may be separated by using



https://dl.doubtnut.com/l/_mKMP5h2jYq6K
https://dl.doubtnut.com/l/_q4tAsv1fSyhT
https://dl.doubtnut.com/l/_CB8bvr5OfySP

A. iodoform

B. diethyloxalate

C. benzenesulphonyl chloride

D. acetyl chloride

Answer:

° Watch Video Solution

51. The Hinsberg's test of a compound, C5 Hy4 N> produces a solid that is
insoluble in 10% aq. NaOH. This solid derivative dissolves in 10%
aqueous sulphuric acid. Which of the following would best describe
these facts?

A.NH,CH,CH,N(CHj),

B.(CH;3),NCH,;CH;NHCHj

C. NH,CH,C(CHs),CH,NH,


https://dl.doubtnut.com/l/_CB8bvr5OfySP
https://dl.doubtnut.com/l/_uQht4W29HMyE

D. (CH;),NCH,N(CHj),

Answer:

° Watch Video Solution

52. Which of the following reactions is not correctly matched?

A.Reaction used to convert amide into primary amine with one
carbon atom less -Hofmann bromide reaction

B. Reaction used to conbert primary amines into isocyanides -
Carbylamine reaction

C.Reaction used to distinguish primary secondary and tertiary
amines- Hinsberg's reaction

D. Preparation of primary phthalimide - Victor Meyer's synthesis

Answer:

l ° WMiak .\t daa CAl. bkl



https://dl.doubtnut.com/l/_uQht4W29HMyE
https://dl.doubtnut.com/l/_7DkjzHZ1yb68

¢ _ryvallll VIUCU JVIULIVII J

53. Electrophilic substitution of aniline with bromine water at room

temperature gives

A. 2-bromoaniline

B. 3-bromoaniline

C. 2,4,6-tribromoaniline

D. 3,5,6-tribromoaniline

Answer:

o Watch Video Solution

54. From nitration of aniline, which of the following steps is followed?

A.Direct nitration using nitrating mixture (conc. HNOs+conc.

H,50,) followed by oxidation.


https://dl.doubtnut.com/l/_7DkjzHZ1yb68
https://dl.doubtnut.com/l/_fTf7NeBQ9aQS
https://dl.doubtnut.com/l/_9vWp2r2I7HDT

B. Using fuming HNQOj carrying out reaction at 273K followed by

hydrolysis.

C.Using NaNO, and HCI followed by reaction with conc. HNOj3

followed by hydrolysis.

D. Acetylation followed by nitration and hydrolysis.

Answer:

° Watch Video Solution

55. Amino group is o, p-directing for electrophilic substitution reaction.
But, on nitration the major product is m-nitroaniline because
A. aniline gets protonated with strong acids to give anilinium ion
which is m-directing
B. nitration requires nitric acid which oxidises NHy to — NO, group.

C. electrophilic NO,  is a m-directing group


https://dl.doubtnut.com/l/_9vWp2r2I7HDT
https://dl.doubtnut.com/l/_U1XRcFxXDtd4

D. benzene ring exerts + | effect and deactivates the ring.

Answer:

° Watch Video Solution

56. How aniline can be converted by efficient procedure to mononitro

derivative?

A. nitration with conc. HNO3 + conc. H5 50,

B. aniline — dimethylaniline — p-nitrosodimethyl

aniline — p-nitromethyl aniline

C.aniline — acetanilide — o-and p- nitroacetanilide —

hydrolysed

D. aniline — chlorobenzene via diazonium salt nitrated to give o-

and p- chloronitro benezene — heated with NHj

Answer:


https://dl.doubtnut.com/l/_U1XRcFxXDtd4
https://dl.doubtnut.com/l/_a0QIPR8o5UUP

o Watch Video Solution

57. Anilinium hydrogensulphate on heating with sulphuric acid at 453-

473 K produces

A. sulphanilic acid

B. benzenesulphonic acid

C. aniline

D. anthranilic acid

Answer:

o Watch Video Solution

58. When aniline is heated with conc. H,SO, at 455-475 K, it forms

A. aniline hydrogensulphate

B. sulphanilic acid


https://dl.doubtnut.com/l/_a0QIPR8o5UUP
https://dl.doubtnut.com/l/_4C6NE22YmsSl
https://dl.doubtnut.com/l/_Y8U5sRJg8TDu

C. amino benzene sulphonic acid

D. benzenesuphonic acid

Answer:

° Watch Video Solution

59. Benzenediazonium chloride cannot be stored and is used

immediately after its preparation because

A. it slowly evaporates on storage

B. it is very unstable and disscociates to give nitrogen

C. it gets oxidised in air hence cannot be stored

D. it reacts with all the containers in which it is stored.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Y8U5sRJg8TDu
https://dl.doubtnut.com/l/_Nsl3ZvPtmUzO
https://dl.doubtnut.com/l/_6Gm1A1ISPqtr

60. N, N-Dimethylaniline is treated with aqueous NaNO,/HCI, the
product formed is

A. p-(N, N-dimethylamino) benzenediazonium chloride.

B. p-(N, N-dimethylamino) phenol

C. p-nitroso-N,N-dimethylaniline

D. p-nitro-N,N-dimethylaniline

Answer:

° Watch Video Solution

61. During preparation of arendiazonium salts, the excess of nitrous
acid, if any, is destroyed by adding

A.aq.NaOH

B.aq.NayCOs

C.aq.NH,CONH,


https://dl.doubtnut.com/l/_6Gm1A1ISPqtr
https://dl.doubtnut.com/l/_ZAeH0IynZx93

D. aq. Kl

Answer:

o Watch Video Solution

62. Which of the following is not a property of diazonium salts?

A. Diazonium salts are colourless crystalline solids.

B. Being ionic in nature they are soluble in water.

C. Most of these salts explode when dried.

D.The aqueous solutions of these salts are poor conductors of

electricity.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ZAeH0IynZx93
https://dl.doubtnut.com/l/_2ocmN9KlOYlF

63. Which of the following options is correct regarding the property of

benzenediazonium fluoroborate?

A. It is water soluble at room temperature

B. It is water insoluble and stable at room temperature.

C.ltis a coloured solid.

D. None of these.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_0DkozD4037bY

64. Identify the reagents X,Y and Z for the following products.

N,CI™ I
s ©
+
N,CI” CN
Y 5
+
N,CI” OH
Z
(iii) —>
X Y Z
A I,,warm KCN,warm NaOH, warm
X Y VA
5 Cul NaCN KOH
X Y Z
< Kl,warm CuCN H,0O,warm

5 X Y Z
" Agl, warm AgCN,warm KOH,boil

Answer:



https://dl.doubtnut.com/l/_M4h55PVjKOLB

[ W Watch Video Solution J

65. Mark the correct route of the conversion of p-chloroaniline to p-

chlorobenzylamine .

NH, CH,NH,
@ (i) A @ 5 (iii)
Cl C\

O @
" Alkylation KCN H,/Pt
0 G G
" Diazotisation CuCN H, /Pt
O W
" Oxidation H,/Pt Hydrolysis
() (i) (i)
> Diazotisation H,O/H ™™ Sn/HCI

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_M4h55PVjKOLB
https://dl.doubtnut.com/l/_4ALkRVRa9gyn

66. Which of the following is correct method to convert p-toluidine to p-
toluic acid?

A. Diazotisation, CuCN, H, / Pd

B.CHCl3/NaOH,KCN, Sn/HCI

C. Diazotisation, CUCN/KCN, H,O /H *

D. Diazotisation, NaCN, NaOH

Answer:

o Watch Video Solution

67. Aniline can be converted into bezyl amine by which of the following

processes in sequence?

A.NaNO, + HCIl, CuCN, Hy / Ni

B. B7’2 /(Cl4, KCN, LZAIH4


https://dl.doubtnut.com/l/_2gcZLHRDZi5Q
https://dl.doubtnut.com/l/_pNGBiaxLO5cV

C. HNOQ, KQCT2O7/H+, Sn + HCI

D. CHgOH, KM’I’LO4, OH_ y H3+O

Answer:

° Watch Video Solution

68. Identify X,Y and Z in the given sequence of reactions

A

R )

A.X=HBr ,Y=NaNQO> + HCI ,Z=heat
B.X = Bry/CCly,Y = HNO,,Z = CH30H

C.X = Bry/CuBr,Y = NaNO; + HCIl,Z = NaOH

X = B'r'z(a,q), Y = NaNO; + HCl(O — 406), Z = H33 POy + HyO


https://dl.doubtnut.com/l/_pNGBiaxLO5cV
https://dl.doubtnut.com/l/_nOA0Ie0OGAw0

Answer:

o Watch Video Solution

69. Coupling of diazonium salts of following takes place in the order

O OH NH, NH,
7
g
I 1 it v
A IVIEHIEHIt
B. IVItHIItHItI
C. HtIvItItn
D. lltHithitiv
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_nOA0Ie0OGAw0
https://dl.doubtnut.com/l/_mHdfkO5BNSet

70. Match the column I with column Il and mark the appropriate choice.

A.(A) = (i), (B) = (i), (C) — (i), (D) — (4)
B.(4) — (i12), (B) — (i), (C) — (i), (D) — (i)
C.(A) = (i), (B) = (i12), (C) — (iv), (D) — (4)

D.(A) — (2), (B) — (1), (C) — (4i3), (D) — (iv)


https://dl.doubtnut.com/l/_ZVJbyLIKxsay

Answer:

° Watch Video Solution

71. The coupling reaction of arydiazonium chloride with aniline are

carried out in

A. strongly acidic medium

B. strongly basic medium

C. mild basic medium

D. mild acidic medium

Answer:

° Watch Video Solution

72. Aniline when diazotised in cold and then treated N, N-

dimethylaniline gives a coloured product. The structure of this product


https://dl.doubtnut.com/l/_ZVJbyLIKxsay
https://dl.doubtnut.com/l/_wEwwC42xv7Ao
https://dl.doubtnut.com/l/_QtVQ5t9eo3QX

A @ ;< O)N=N<{O)wn,
g, @ OO

© (CH;)ZN-@—N“'@

C.
b @ cHNH<Oy-N=n<{O)-wuen,
Answer:

o Watch Video Solution

Classification

1. C3HyN cannot represent

A.1° amine

B.2° amine

C.3° amine


https://dl.doubtnut.com/l/_QtVQ5t9eo3QX
https://dl.doubtnut.com/l/_zDWe5FkhOoZ0

D. quaternary ammonium salt.

Answer:

° Watch Video Solution

2. Which of the following is a primary amine .?

A. tert-Butylamine

B. sec-Butylamine

C. Isobutylamine

D. Dimethylamine

Answer:

o Watch Video Solution

Preparation Of Amines


https://dl.doubtnut.com/l/_zDWe5FkhOoZ0
https://dl.doubtnut.com/l/_uRsFCRQJsYSf
https://dl.doubtnut.com/l/_ErzpIOPsiPYc

1. lUPAC name of the compound (CyHj;),NCHj is

A. 2,2-diethylmethanamine
B. N,N-diethylmethanamine
C. N-ethyl-N-methylethanamine

D. N-methylbutanamine

Answer:

° Watch Video Solution

2. Reduction of aromatic nitro compounds using Fe and HCl gives...

A. Aromatic primary amines

B. aromatic secondary amines

C. aromatic tertiary amines

D. aromatic amides.


https://dl.doubtnut.com/l/_ErzpIOPsiPYc
https://dl.doubtnut.com/l/_m4G308Ad66vk

Answer:

o Watch Video Solution

3. Secondary amines could be prepared by

A. reduction of nitro compounds

B. reduction of amides

C.reduction of isonitriles

D. reduction of isonitriles

Answer: C::D

° Watch Video Solution

4. Reduction of CH3C H; NC with hydrogen in presence of Ni or Pt as

catalyst gives


https://dl.doubtnut.com/l/_m4G308Ad66vk
https://dl.doubtnut.com/l/_1Q3dG4CMtPpU
https://dl.doubtnut.com/l/_38eJG3vr3gr8

A CH;CH,NH,
B. CH;CH,NHCH,
C. CH;CH,NHCH,CHs;

D. (CH;),N

Answer:

° Watch Video Solution

5. Identify X, Y and Z in the given reaction:

CH2 _ CH2 B’r‘2> X NaCN> v LiAlHy 7
cCly (2 moles)
X Y Z
A CH,BrCH,Br CH,CH,CH,CN CH,CH,CH,CH,NH,
X Y Z
S CH,BrCH,Br CH,CH,CN CH,CH,CH,NH,
X Y z

< CHgCHQB’I” CH3CHQCN CH3CHQCH2NH2
D.

X Y Z
CHgBT'CHgBT‘ NCCH2CH20N H2NCH20H2CH2OH2NH2


https://dl.doubtnut.com/l/_38eJG3vr3gr8
https://dl.doubtnut.com/l/_hfdTcCGu9zXO

Answer:

o Watch Video Solution

Chemical Reactions

NH,
CH,COOH =~ H
CH,

1.

Product would be

NH,

COCH,
(a)

CH,

COCH;,
Br

(b)

CHj



https://dl.doubtnut.com/l/_hfdTcCGu9zXO
https://dl.doubtnut.com/l/_esZky9jrLUio

NH,

Br
()
. CH,
NHCOCH;,
Br
(d)
D. CHj
Answer:

° Watch Video Solution

2. Primary amines react with benzoyl chloride to give

A. Benzamides

B. ethanamides

C.imides

D. imines

Answer:



https://dl.doubtnut.com/l/_esZky9jrLUio
https://dl.doubtnut.com/l/_PWwYvrd1UKTy

I o Watch Video Solution

3. what is obtained when benzoyl chloride reacts with aniline in the

presence of sodium hydroxide?

A. Benzoic acid

B. Benzanilide

C. Acetanilide

D. Azobenzene

Answer:

o Watch Video Solution

4. Acetylation of a secondary amine in alkaline medium yields

A. N,N-dialkylacetamide

B. N,N-dialkylamine


https://dl.doubtnut.com/l/_PWwYvrd1UKTy
https://dl.doubtnut.com/l/_u26iN0MJ1Qjq
https://dl.doubtnut.com/l/_F0oh8SLuDPLH

C. N,N-dialkylamide

D. acetyl dialkylamine

Answer:

° Watch Video Solution

5. Primary and secondary amines react with acid chloride or acid

anhydride to form

A. tertiaryammonium salts

B. substituted amides

C.diazonium salts

D. nitro compounds

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_F0oh8SLuDPLH
https://dl.doubtnut.com/l/_AaimDh9mUOpe
https://dl.doubtnut.com/l/_O0Eg4oUzYmKQ

NaCN Ni/H, Acetic
6. CH;CH,ClI > X > Y >
anhydride

Z in the above reaction sequence is .

A.CH;CH,CH,NHCOCH,

B. CH;CH,CH,NH,

C. CH;CH,CH,CONHCH;

D. CH;CH,CH,CONHCOCH,

Answer:

° Watch Video Solution

7. Which of the following compounds cannot be identified by carbyl

amine test ?

A. CH;CH,NH,

B. (CH;),CHNH,


https://dl.doubtnut.com/l/_O0Eg4oUzYmKQ
https://dl.doubtnut.com/l/_N9BTvNWBmgb9

C.C4HsNH,

D. C;Hs NHC; H

Answer:

° Watch Video Solution

8.The action of nitrous acid on an aliphatic primary amine gives

A. secondary amine

B. nitroalkane

C. alcohol

D. alkyl nitrite

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_N9BTvNWBmgb9
https://dl.doubtnut.com/l/_HRgUHgVqMkF3

9. Which of the following compounds reacts with NaNO, and HCI at O-

4° C' to give alcohol/phenol?

A CsHs NH,

B. Cy Hs N H,

C.CH;NHCH,

D. CsHs NHCHs

Answer:

o Watch Video Solution

10. Identify 'Z' in the sequence

NaNO,+ HCl CuCN __H* /H,0
C6H5NH2 > X > Y ?

273K Boil

A.CgHsCN

B.C¢H;CONH,


https://dl.doubtnut.com/l/_IyFTTle1Abxh
https://dl.doubtnut.com/l/_dpB1oTIaAkiy

C. CxH;COOH

D. CHsCH,NH,

Answer:

o Watch Video Solution

11. Primary and secondary amines are distinguished by:

A.Bry,/ KOH
B. HCIO
C. HNO,

D. NH;

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_dpB1oTIaAkiy
https://dl.doubtnut.com/l/_rpvr0NP9msfO

12. An organic compound (C3HgN) (A) when treated with nitrous acid
, gave an alcohol and N, gas was evolved. (A) on warming with CHCl;
and caustiv potash gave (C) which on reduction gave

isopropylmethylamine. Predict the structure of (A).

CHi~
(a) CH _CH—NH,

A. 3
B.CH;CH, — NH — CH;

C.CH;— N — CH;
|
CHs

D. CH;CH,CH, — NH,

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_epdH3GIWH57b

13. Match the column I with column Il and mark the appropriate choice.

A (A) — (i), (B) — (i), (C) — (4i3), (D) — (iv)
B.(A4) — (%), (B) — (i), (C) — (iv), (D) — ()
C.(4) — (), (B) — (3), (C) — (i), (D) — (34)

D.(A) — (éi3), (B) — (iv), (C) — (3), (D) — (i3)

Answer:

° Watch Video Solution

14. Which of the following amine does not react with Hinsberg's reagent

?


https://dl.doubtnut.com/l/_6sed7HTQPlvd
https://dl.doubtnut.com/l/_QGuA5f7mXQYZ

A CH;CH, — NH,
B.CH; — NH — CH,
C.(CH;CH,),N

D. All of these

Answer:

° Watch Video Solution

15. The structure of product X in the following reaction is

CH,

(i) NaNO, + HC1 (273-278) K _ o
(ii) H3PO,, HO

NO,
NH,


https://dl.doubtnut.com/l/_QGuA5f7mXQYZ
https://dl.doubtnut.com/l/_xUxQBrX6Y4ti

CH,4

(b)

NO,
B. OH
CH,
(c)
. NH2
(d)
NO,
NO
D. 2
Answer:

o Watch Video Solution

16. Identify X, Y and Z in the given sequence of reactions.

NH,

NaNO,/HCl __ Cu,Cl,



https://dl.doubtnut.com/l/_xUxQBrX6Y4ti
https://dl.doubtnut.com/l/_GpzHHwFuhr95

A.
NH, NjCl- Cl
Br. Br Br Br Br Br
(b) Xx= ;Y= 7=
Br Br Br
B.
NH, N3 Cl” Cl
0@ @ QO
Br Br Br
C.
NH, NH, NH,
(d) X= 5 Y= N Z =
NO, NH
Br Br Br
D.
Answer:

° Watch Video Solution

HNOg STL/HCl NaN02 H3P02
17. CsHy > P > Q > R )
H,S504 HCI H,0

The end product S in the given sequence of reactions is


https://dl.doubtnut.com/l/_GpzHHwFuhr95
https://dl.doubtnut.com/l/_xLSndS6uWIHR

A. Benzoic acid

B. benzene

C. phenol

D. chlorobenzene.

Answer:

° Watch Video Solution

18. o-Chloroaniline is treated with a mixture of NaNO, and HCl and the
product is reacted with cuprous bromide. The final product in the

reaction will be

Cl
(a) @
A.
Br
e
B.


https://dl.doubtnut.com/l/_xLSndS6uWIHR
https://dl.doubtnut.com/l/_AM3thjN3HEMv

Cl
o QX
Br
C.
Br
@ @
Br
D.

Answer:

° Watch Video Solution

19. The product 'D' in the following sequence of reactions is
NH,

Br, > A NaNOz\B HBF, > C Heat D

(aq.) HCI

A. 2,4.6-tribromofluorobenzene

B. fluorobenzene

C. p-bromofluorobenzene

D. tribromobenzene


https://dl.doubtnut.com/l/_AM3thjN3HEMv
https://dl.doubtnut.com/l/_1uxSaSt1xdH3

Answer:

° Watch Video Solution

1.When an optically active amine (A) having molecular formula C,H{; N

is subjected to Hofmann's exhaustive methylation followed by
hydrolysis, an alkene (B) is produced which upon oxonolysis and

subsequent ydrolysis yields formaldehyde and proanal. The amine ‘A’ is

A.CH C HCH,CH,

|
NH>

B.CHsNH — CH — CHj
\
CH;

C.CH3 N CHyCHj;

\
CH;s

D.CH3CH,CH>CH>sNH>

Answer:



https://dl.doubtnut.com/l/_1uxSaSt1xdH3
https://dl.doubtnut.com/l/_fmFRSZhwvqFs

l o Watch Video Solution J

2. A dichloroderivative (A) on treating with KCN followed by acid
hydroysis and heating gives a monobasic acid (B) along with liberation
of COs. (B) on heating with liquid ammonia followed by treating with
Bry / KOH gives (C ) which on treating with NaNO> and HCl at low
temperature followed by oxidation gives a monobasic acid (D) having
molecular mass 74.'C' in the whole process would be

A. ethyl amine

B. propyl amine

C. tert-butyl amine

D. cyclopentyl amine.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_fmFRSZhwvqFs
https://dl.doubtnut.com/l/_BsHsdTaRyRXX

3. When the imidazole ring of Histidine is protonated, tendency of

nitrogen to be protonated (proton migrates from -COOH) is in the order

_ COOH
___ CH,— CH\
NH,
o X~ NH Y

AB>v>a

B.y> B>«

Cy>a>p

D.B>a >vy

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Ca17foT1EfD2

4. In the reaction shown below, the major product (s) formed is/are

acetic anhydﬂde prOd\lCt(S)
CH,CI,

CH

H
N\n/ 3
©\(')( + CH,COOH
(a)
+CH,COOH
(b) CH

B.
H
NTCH3
(¢ +H,0
(c) H
N\n«CHB
C' O O
.
NH, CH,CO0
(d) H
NTrcx-l3
D_ O O
Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Ei6lVtqZ9AA4

5. The mojor product obtained when Bry,/Fe is treated with

HN—O
(a) H_‘CCH:
Br

HN (0]

(b) HC C“ﬂ
Br
HN (0]

O negy

C. Br

HN;O
(d) H,C CH,
D. ©© Br

A

B.

Answer:



https://dl.doubtnut.com/l/_UcS33EgGv6Qi

[ @ VWatch vVideo Solution

6. Consider the following reactions :

Reaction I :

5 mn o
ON

Reaction II :
CH,
@N Me, HNO, QNMez
CH, ON CH,

Which of the following is a correct comparison of rate of reaction ?

Arr > rrr
B.rr < 7ryr
C.rr =11

D. Reactions are not possible.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_UcS33EgGv6Qi
https://dl.doubtnut.com/l/_MVjDiQERqfmT

Ncert Exemplar

1. Which of the following is a 3° amine

A. 1- Methylcyclohexylamine

B. Triethylamine

C. tert-butyl amine

D. N-Methylaniline

Answer:

o Watch Video Solution

2. The correct IUPAC name for CHy = CHCH,NHCHj is

A. allylmethylamine

B. 2-aminon -4- pentene

C.4-aminopent - 1-ene


https://dl.doubtnut.com/l/_WAJigpO46eJj
https://dl.doubtnut.com/l/_2SWyZT0KcMpw

D. N- methylprop- 2-en - 1-amine

Answer:

o Watch Video Solution

3. Amongst the following, the strongest base in aqueous medium is

A CH;NH,
B. NCCH,NH,
C.(CH;),NH

D. CsHsNHCHs,

Answer:

o Watch Video Solution

4. Which of the following is the weakest Bronsted base?


https://dl.doubtnut.com/l/_2SWyZT0KcMpw
https://dl.doubtnut.com/l/_v02xFRGYgNUC
https://dl.doubtnut.com/l/_AiOhwHoCwgtC

(c)

D. CH;NH,

Answer:

o Watch Video Solution

5. Benzylamine may be alkylated as shown in the following equation
C@H5CH2NH2 +R—-X — CﬁH{,CHQNHR
Which of the following alkyl halides is best suited for this reaction

through Sy 1 mechanism?

A. CH?,B'I“


https://dl.doubtnut.com/l/_AiOhwHoCwgtC
https://dl.doubtnut.com/l/_RxvsVTbsHOLu

B. C6H5B7’

C. 06H5CH2B’I”

D. 02H5BT'

Answer:

o Watch Video Solution

6. Which of the following reagents would not be a good choice for

reducing an aryl nitro compound to an amine?

A H2(excess) /Pt
B. LiAlH, in ether
C. Fe and HClI

D. Sn and HCI

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_RxvsVTbsHOLu
https://dl.doubtnut.com/l/_hbEMBvXXWt8E

7.In order to prepare a 1° amine from an alkyl halide with simultaneous
addition of one C'H, group in the carbon chain, the reagent used as
source of nitrogen is.....

A. sodium amine, NaNH,

B. sodium azide, Na N3

C. potassium cyanide, KCN

D. potassium phthalimide, C¢Hy(CO),N " K *

Answer:

° Watch Video Solution

8.The source of nitrogen in Gabriel syntheisis of amine is..

A.sodium azide, Na N3

B. sodium nitrite, NaNO,


https://dl.doubtnut.com/l/_hbEMBvXXWt8E
https://dl.doubtnut.com/l/_39b2jfGjaxJj
https://dl.doubtnut.com/l/_w1U2UInhZ5H6

C. potassium cyanide, KCN

D. potassium phthalimide, C4Hy(CO),N " K *

Answer:

° Watch Video Solution

9. Amongst the given set of reactants, the most appropriate for
preparing 2° amine is ...

A.2°R — Br + NH;

B.2°R — Br + NaCN followed by H, / Pt

C.1°R — NH; + RCHO followed by H, / Pt

D.1°R — Br(2 mol) + potassium phthalimide followed by

H3;0" / heat

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_w1U2UInhZ5H6
https://dl.doubtnut.com/l/_IqxpRHJDmPB0

10. The best reagent for converting 2-phenylpropanamide into 2-

phenylpropanamine is

A. excess H,

B. Bry in aqueous NaOH

C.iodine in the presence of red phosphorus

D. LiAlH, in ehter.

Answer:

° Watch Video Solution

1. The best reagent for converting, 2-phenylpropanamide into 1-

phenylethanemine is....

A.excess Hy / Pt

B. NG,OH/B’I"Q


https://dl.doubtnut.com/l/_IqxpRHJDmPB0
https://dl.doubtnut.com/l/_s3bYqKyqNfb4
https://dl.doubtnut.com/l/_oVpWvysXTRa6

C. NaBH, . Methanol

D. LiAlH,/ ehter

Answer:

° Watch Video Solution

A. A’T’NH2

B. AT‘CONHQ

C. AT’NOQ

D. ABCHQNHQ

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_oVpWvysXTRa6
https://dl.doubtnut.com/l/_sShQbbSBGNJU

13. Methylamine reacts with HNO, to form....

ACH; —O—N=0
B.CH; — O — CH,
C.CH;0H

D. CH;CHO

Answer:

o Watch Video Solution

14. The gas evolved when methylamine reacts with nitrous acid is....

A NH;
B. N,
C. H,

D. CZH6


https://dl.doubtnut.com/l/_fHMLKrYXEjHs
https://dl.doubtnut.com/l/_DYp8t2IjkZNE

Answer:

o Watch Video Solution

15. In the nitration of benzene using a mixture of conc. H, SO, and conc.
HNOs , the species which initiates the reaction is...

A NO,

B.NO*

C.NO,

D. NO;

Answer:

° Watch Video Solution

16. Reduction of aromatic nitro compounds using Fe and HCl gives...


https://dl.doubtnut.com/l/_DYp8t2IjkZNE
https://dl.doubtnut.com/l/_39O90TgXWR8z
https://dl.doubtnut.com/l/_leVN0RKHV8va

A. aromatic oxime

B. aromatic hydrocarbon

C. aromatic primary amine

D. aromatic amide.

Answer:

° Watch Video Solution

17. The most reactive amine towards dilute hydrochloric acid is

A.CH; — NH,
HyC_
(b) _NH
H-C
B. 3
HyC_
() N—CH
Hy< ’


https://dl.doubtnut.com/l/_leVN0RKHV8va
https://dl.doubtnut.com/l/_9Y2gLvi4v1v5

NH,

(d)

Answer:

o Watch Video Solution

18. Acid anhydrides on reaction with primary amine gives...

A. amide

B. imide

C.secondary amine

D. imine.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_9Y2gLvi4v1v5
https://dl.doubtnut.com/l/_U5FXHKfTtbjF
https://dl.doubtnut.com/l/_S3DmFPcOtvh5

+ _ Cu/HCI
19. The reaction ArNyCl ——— ArCl 4+ Ny + CuCl is named as....

A. Sandmeyer reaction
B. Gatterman reaction
C. Claisen reaction

D. Carbylamine reaction

Answer:

° Watch Video Solution

20. Best method for preparing primary amines from alkyl halides

without changing the number of carbon atoms in the chain is

A. Hofmann b romamide reaction

B. Gabriel phthalimide synthesis

C. Sandmeyer reaction

D. Reaction with NH;


https://dl.doubtnut.com/l/_S3DmFPcOtvh5
https://dl.doubtnut.com/l/_BkYJPxvUfdu3

Answer:

o Watch Video Solution

21. Which of the following compounds will not undergo azo coupling

reaction with benzene diazonium chloride?

A. Aniline

B. Phenol

C. Anisole

D. Nitrobenzene

Answer:

° Watch Video Solution

22. Which of the following compounds is the weakest Bronsted base?


https://dl.doubtnut.com/l/_BkYJPxvUfdu3
https://dl.doubtnut.com/l/_n2XAuvGcWeml
https://dl.doubtnut.com/l/_k6W2c1gmvAN5

NH,
(a)

A.
NH,

B.
OH
0 Q)

C.
OH

D.

Answer:

O Watch Video Solution

23. Among the following amines, the strongest Bronsted base is....


https://dl.doubtnut.com/l/_k6W2c1gmvAN5
https://dl.doubtnut.com/l/_dEjKnoaxVl1f

A.
B.(b)N H;
|
N
() \ /
C.

—

Answer:

° Watch Video Solution

24. Which of the following methods of preparing of amines will give

same number of carbon atoms in the chain of amines as in the reactant?


https://dl.doubtnut.com/l/_dEjKnoaxVl1f
https://dl.doubtnut.com/l/_Ys09YYV5rqV3

A. Reaction of nitrite with Li AlH,.

B. Reaction of amide with Li AlH, followed by treatment with water.

C. Heating alkyl halide with potassium salt of phthalimide followed

by hydrolysis.

D. Treatment of amide with bromine in aqueous solution of sodium

hydroxide.

Answer:

o Watch Video Solution

Ncert Exempler Problems

1. The correct increasing order of basic stregth for the following

compounds is



https://dl.doubtnut.com/l/_Ys09YYV5rqV3
https://dl.doubtnut.com/l/_PBbv5n2LcE7n

NH2 NH2 NH2

(I (11) (I1D)
N02 CH4
ATt It
B.NIIE 11t
C.lltniltl
D.ILIE It
Answer:

o Watch Video Solution

2. The correct decreasing order of basic strength of the following
species is

H>0, NH3, OH ~, NH,"

A. NHZ_ > OH > NHj3; > H>O


https://dl.doubtnut.com/l/_PBbv5n2LcE7n
https://dl.doubtnut.com/l/_kHMLl13EdIKf

B.OH > NH, > H,O > NHj;
C.NH3; > H,O > NH, > OH"™

D.H,O > NH3; > OH™ > NH,

Answer:

° Watch Video Solution

3. Which of the following should be most volatile ?

() CH,CH,CH,NH, (II) (CH,),N

CH;CH,
(I11) _NH (IV) CH,CH,CH,
CH,
Al
B.IV
C.I

D. 1l


https://dl.doubtnut.com/l/_kHMLl13EdIKf
https://dl.doubtnut.com/l/_bIXwuWhEHJPK

Answer:

o Watch Video Solution

Assertion Reason Corner

1. Assertion : Isopropylamine is a secondary amine .

Reason : IUPAC name of isopropylamine is 2-aminopropane .

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true and reason not is the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer:



https://dl.doubtnut.com/l/_bIXwuWhEHJPK
https://dl.doubtnut.com/l/_S3q63qLuAlS9

[ @ Watch Video Solution J

2. Assertion : Only a small amount of HCl is required in the reduction of
nitro compound with iron scarp .
Reason : FeCl, formed gets hydrolysed to release hydrochloric acid
during the reaction .
A.If both assertion and reason are true and reason is the correct
explanation of assertion.
B. If both assertion and reason are true and reason not is the correct
explanation of assertion.

C.If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_S3q63qLuAlS9
https://dl.doubtnut.com/l/_hQUjdmfKBK0X
https://dl.doubtnut.com/l/_B1WRxvX8ePkG

3. Assertion : In ammonolysis of alkyl halides , primary amine is obtained

as a major product by taking large excess of NHj .

Reason : The process of cleavage of the C-X bond by ammonia molecule

is known as ammonolysis .

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true and reason not is the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer:

° Watch Video Solution

4. Assertion : Gabriel phthalimide synthesis can be used to convert alkyl

chlorides into primary amines .


https://dl.doubtnut.com/l/_B1WRxvX8ePkG
https://dl.doubtnut.com/l/_rUwqlSrvES3E

Reason : With proper choice of reagent , Gabriel synthesis can used to

prepare primary , secondary and tertiary amines .

A.If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true and reason not is the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer:

° Watch Video Solution

5. Assertion : Aromatic primary amines can be prepared by Gabriel
phthalimide synthesis .
Reason : Aryl halides undergo uncelophilic substitution with the anion

formed by phthalimide .


https://dl.doubtnut.com/l/_rUwqlSrvES3E
https://dl.doubtnut.com/l/_vCgeozt7vKq1

A.If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true and reason not is the correct

explanation of assertion.

C.If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer:

° Watch Video Solution

6. Assertion : Hofmann degradation of benzamide gives aniline .

Reason : Hofmann bromamide degradation reaction can be used for

descending amine series .

A.If both assertion and reason are true and reason is the correct

explanation of assertion.


https://dl.doubtnut.com/l/_vCgeozt7vKq1
https://dl.doubtnut.com/l/_DyWdq3jkoNOd

B. If both assertion and reason are true and reason not is the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer:

° Watch Video Solution

7. Assertion : The order of basicity of amines in the gaseous phase
follows the order :

3° amine > 2° amine > 1° amine > NH;

Reason : Amines have an unshared pair of electrons on nitrogen atom

due to which they behave as Lewis base .

A. If both assertion and reason are true and reason is the correct

explanation of assertion.


https://dl.doubtnut.com/l/_DyWdq3jkoNOd
https://dl.doubtnut.com/l/_TYdw2lXUBdZz

B. If both assertion and reason are true and reason not is the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer:

° Watch Video Solution

8. Assertion : The order of basic strength in case of methyl substituted

and ethyl substituted amines in aqueous state is different .

Reason : Methyl group has stronger inductive effect than ethyl group .

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true and reason not is the correct

explanation of assertion.


https://dl.doubtnut.com/l/_TYdw2lXUBdZz
https://dl.doubtnut.com/l/_4xjHD2atVd4b

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer:

° Watch Video Solution

9. Assertion : The diazotisation reaction must be carried in ice cold
solution (0 — 4°C) .
Reason : At higher temperature , benzenediazonium chloride reacts with
water to give phenol .
A. If both assertion and reason are true and reason is the correct
explanation of assertion.
B. If both assertion and reason are true and reason not is the correct

explanation of assertion.

C. If assertion is true but reason is false.


https://dl.doubtnut.com/l/_4xjHD2atVd4b
https://dl.doubtnut.com/l/_qLIxLEuKz5fH

D. If both assertion and reason are false.

Answer:

° Watch Video Solution

10. Assertion : Isocyanide test can be used to distinguish between

secondary and tertiary amines .

Reason : Tertiary amines on heating with chloroform and alc. KOH form

foul smelling substances .

A.If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true and reason not is the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.


https://dl.doubtnut.com/l/_qLIxLEuKz5fH
https://dl.doubtnut.com/l/_3O1dcHzqTeax

Answer:

° Watch Video Solution

11. Assertion : N-Ethylbenzenessulphonamide is soluble in alkali .
Reason : Hydrogen attached to nitrogen in sulphonamide is strongly
acidic in nature .
A. If both assertion and reason are true and reason is the correct
explanation of assertion.
B. If both assertion and reason are true and reason not is the correct
explanation of assertion.
C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_3O1dcHzqTeax
https://dl.doubtnut.com/l/_xI16NDNGQvPF

12. Assertion : Acetanilide is less basic than aniline .

Reason : Acetanilide is formed by reaction of aniline with acetic

anhydride .

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true and reason not is the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer:

° Watch Video Solution

13. Assertion : In strongly acidic solution, aniline becomes less reactive

towards electrophilic reagents .


https://dl.doubtnut.com/l/_YCYCYGDEJQ04
https://dl.doubtnut.com/l/_I3jWOUf44i3I

Reason : Due to protonation of amino group the lone pair of electrons

on nitrogen is not available for donation to benzene ring by resonance..

A. alf both assertion and reason are true and reason is the correct

explanation of assertion.

B. b.If both assertion and reason are true and reason is not the

correct explanation of assertion.

C. cIf assertion is true but reason is false.

D. d.If assertion is false but reason is true.

Answer:

° Watch Video Solution

14. Assertion : Aniline does not undergo Friendel-Crafts reaction .

Reason : Friedel-Craft reaction is an electrophilic substitution reaction .


https://dl.doubtnut.com/l/_I3jWOUf44i3I
https://dl.doubtnut.com/l/_NurhKeP0DfUQ

A.If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true and reason not is the correct

explanation of assertion.

C.If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_NurhKeP0DfUQ

